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1. The force F has a magnitude of 80 N and acts at the midpoint € of the thin rod as shown in
Figure 1. Express the force as a Cartesian vector. 25 %

2. As shown in Figure 2, the disk (radius R) rolls without slipping with angular velocity @ and
angular acceleration & respectively, find the velocity and acceleration of point A and B

(Vs a,, and Vi, a, ). 25 %

3. A pendulum consists of a bob weighing 2 Kg and a massless rod 1.2 m long. The bob is
raised to the position shown in Figure 3 and released from rest. Find the tension in the rod

when the rod is vertical. 25 %

4. As in Figure 4, m=20 Kg, F=400 N. If the block is initially at rest, and the kinetic friction
coefficient 44, =0.2, determine its velocity after it has traveled a distance 5 m. 25%
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